RRXIRR

38

o de

Q
.

5

8

%
AQ'

2 X

X

-’
2

%
AQ'
%

I
SRRHRS
SRRXS
Q‘Q’
%

‘y
52
SEKR

Q
Q

&R

%
%
2
RS

03
039
.Q

Y

(13 TeV)
1400
M., [GeV]

Y

&R
-

%

<}
9
X

Q
-

3fb?

Q

X2

t

2
|
Y

B Lost lepton

Q

1200

9.0.90.0.0

&
X

R

Q
0%
9a%%%

=m
<

&R

9.0.0.0.0.0,
CRRRRRKS

Q
-

Q
Q

Mult

Q>
XXX

X

1000

Q2
R

X

KR
X

»
1905

0,
pretel

X

:%p’

O
RS

QR
X

|
800

IRRRXK

XX
A

H. = 1000 GeV
600

2-3j,0b
400

h\u B 4
Alv IT___ 11 1 T___ _L

™ N
o o
— i

salnug 1s3/e1eq

M

10

1

-1
200



	Contents
	Page 1


